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Directions to Candidates:

Answer all questions in the
spaces provided in this question

_ booklet.

Your name:

If additional working space is
needed, use the spare pages at
the end of the booklet. Show
clearly which guestion you are
continuing.

Full marks may not be awarded
for careless or badly arranged
work.

e Answers should be given in
simplest exact form unless
otherwise stated.

e Use black or Blue pen for written
answers, but pencil for diagrams
and graphs.

e Board-approved calculators may
be used.
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Total /120

Question 1 (20 marks)

(a) Write a whole number in the box to
get an answer between 5 and 5.5

(b) Tstimate the value of /85, giving your answer
as a whole number.

(c) The diagram shows a tower drawn to scale.
What is the height of the tower?

(d) The fraction 2 has a value between 8 and 9.

Give one possible whole number for 1.

1 1
(e) What fraction subtracted from 3 gives ﬁ?
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(f) A rectangular paddock is to be sprayed to
protect against inses)g's. The cost of this is found
using the formula: *

C=+LxBx1l.S8,

where L = Length in metres,
B = Breadth in metres,
C = Cost in dollars.

Find the cost of spraying a paddock whose
dimensions are 144m by 36 m.

(g) Adam’s normal rate of pay is $7.30 per hour.
On Saturdays he is paid one and a half times
his normal rate. Last Saturday he worked from
9am to 1 pm. How much was he paid that day?

(h) When John adds four to a number and doubles
the result, he finds that he gets the same as four
less than three times that number. Which of the
following equations, when solved, will give John’s
number? (Circle any correct letters, but do not
solve the equation.)

A 2z+4=3z—-4 B.2z+8=3z—4
C2t+4=4-3z D.2z+8=4-3z

How many faces does this hexagonal prism
have? Circle the correct answer(s).
A6 B.7 C8 D9
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(j) List all the subsets of {4, B, C}

(k) Write 1097 in Roman numerals.

() What is 0.632 as a fraction in its simplest form?

(m) Simplify 4k® x 2k*

(n) Write down the largest 4-digit even number
with a 5 in the hundreds place and a 7 in the
tens place.

(0) 450=2x3x3x5x5
9860 = 2x2x565x17x29
Use the prime factors of the two numbers given
above to find:
(i) the H.C.F. (highest common factor) of 450
" and 9860.

(i) the L.C.M. (lowest common multiple) of
450 and 9860.
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(p) For which of the following equations will the

S(XutiZ(n be :é:): 532(Circle ang co;reczz a:l—s;v)ers.) , Question 2 (20 marks) Answors Marks
. 4z —3) = . 5—(x = —
_z 88—z (2) There are 50 rabbits on & farm. Their number is
C. 9 = 5 D. 3 - 1 expected to double every 3 months. How many
months will it take for the number of rabbits to
reach 16007
(q) Name one or more of the following plane figures
(A, B, C, D) in which there are more than
three axes of symmetry? Circle the correct
letter(s). .
A B. (b) A batsman scores 75 runs in the 1° innings and
' 90 runs in the 2 innings. How many runs must
he score in the 3* innings to achieve an average
of 78 runs per innings?
Square Cirdle
C D.
(c) A house has increased in value by 10%, and it is
now worth $341000. What was the house price
before the increase?
Regular Pentagon TEquilateral Triangle
(d) Simplify —5kl -+ 101k — 7.
(e} Solve for z: 33—z =12.
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(f) On a certain day at Rock Island, the
temperature in the morning was —5° C. It went
up by 12° C by noon, and then down by 17°C
by the evening. What was the temperature in
the evening?

(g) Andrew threw a die (numbered from 1 to 6)
twice and got 6 twice. If Andrew throws the
die again, what is the probability that he gets
a 6 again?

(h) Sam looked in a mirror and saw the reflection
of a clock-face as shown.

‘What was the correct time then?

(i) The numbers on opposite sides of this cube add
up to 5.

What is the product of the numbers on the six
faces?
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A(~3, ~2)

An ant at point A(—3, —2) moves 4 units in a
vertical direction to a point B. It then moves 2
units horizontally to the right. Find a possible
set of co-ordinates for its final position.

(k) Insert a < or > sign in order to make a true
statement: N 0 3.142

() Rewrite this recurring decimal Using the
appropriate dot notation:

68.519519519...

(m) Using your calculator, evaluate this expression
correct to 3 decimal places: -

5—+/26

(n) Simplify 7]~ | —9|.
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(o) What is 87 in base 2 (binary)?

(p) Given that A ={M, A, T, H, S}
B={P,R,I, M, E, S}
list:
(i) AUB

(i) ANB

(q) Write as a single numeral:

6x10°+4x103+3%x10+5

(r) The fraction halfway between 72 and W is 855.
Find the value of W as a mixed numeral.
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Question 3 (20 marks)

a) Two pieces of wire, A and B, are used to form
p bl )
a thombus and regular octagon respectively.

A B

20 mm

NOT TO SCALE
Which of the following statements is true?
(Circle the letter(s) of any correct answers.)
A. The sum of the lengths of wires 4 and
B is 32mm.
B. ‘Wire A is longer than wire B.
C. Wire B is longer than wire A.

D. The sum of the lengths of wires A and
B is 32cm.

Marks

Answers

Soiid 1 , Solid 3

Solid 2
A vertical cut, CD, is made through each of
the four solids drawn in the diagram. In
how many of these solids will the cross-
section made by the cut be a square?
A. None of the four solids. B. Three solids only.
C. "Two solids only. D. One solid only.

(c) A solid has 6 edges and 4 vertices. Write down
the name of the solid.
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(d) Two balls, one glass and one steel, are the same size. They are to (g) The perimeter of a rectangle is 24cm. What

be placed separately in a tub containing 600ml of water. When could be the dimensions of the rectangle?
the glass ball is placed in the tub, the water level rises to 700 ml (Circle all the correct answers.)
as shown. A. Length = 18cm and width = 6em
B. Length = 9cm and width = 3em
900ml C. Length = 0.14m and width = 0.1m
800ml

D. Length = 0.1m and width = 0.02m

700 ml 700l
I@’ cHl

The glass ball is removed from the tub and the steel ball, which is
three times as heavy as the glass ball, is put in the tub. Draw the
new water level of the tub.

2
(h) 3 target shooters scored E, 2 and E, where

the denominator is the number of rounds fired
and the numerator is ‘hits’ on a target. To the

nearest whole number, calculate the best score
(e) Joanne wants to go for 3 nights on a holiday to Queensland. as a percentage.

The table shows the packages offered to her including air-fare.

A. | $600 for 3 nights

B. | $200 for each night

C. | $450 for first 2 nights, $150 for every extra night

D. | $400 for first 2 nights and $100 for every extra night
Which travel agent (A, B, C or D) offers the cheapest package
to Joanne for 3 nights? (Circle the correct answer(s).)

(i) Shadein (ANC)U B.

(f) Internet Specialist monthly plans:
Cost for 50 hours | Cost of each hour above 50 hours
Plan A $30 $2.00
Plan B $40 $1.50

Vanessa and Jessica are both customers of the Internet Specialist
company. They both used the internet for 60 hours in March
1999. Vanessa chose plan A and Jessica chose plan B.

Find the difference in their monthly bills during that month.
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(5) The diagram shows three views of a solid

. Marks
Eor’;ned from centlcu.bes. Question 4 (20 marks)
P ﬁde Front ’ (a) A polyhedron has 30 faces, 17 vertices and 35
edges. Is it possible to create this figure? Give )
J 1 reasons for your answer.
Draw the three-dimensional solid in the space
provided
(b) The equation k* — 3k = O has k = 3 as one :
. solution. If there is another solution, find it.
k) Doug is drawing an isosceles triangle PQR.
g g _
PQ is one side of the triangle. Point R is to S
be on the dotted line through P. Complete
the triangle so that PQ = PR. Show all .
construction lines. (c) Simplify Tpd + 6pP — 2P,
Q P (d) Simplify (—3z%y?)%.
(1) Convert 1010101115 to a decimal numeral. (e) The sector graph shows how much money the

Jones family spent on their last vacation.

(m) Jason is trying to call his friend Paul. He can
remember

o the first 6 digits of the 8-digit number,
e no 2 digits are the same,

air-fare

shopping

e there are no zeroes in the number.

What is the maximum number of calls Jason ,
nelelds to make todriach his friend (assurhing all If they spent in total $10000, how much did
calls are answered)? they spend on airfare (to the nearest $)?

i
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(f) Given v* = v + 228 and u = —5, a = 10 and
S = 3.75; find the two values of v.

F
o
8 Ne q
"é °
g Le
= "M
< °
= K
Study Hours

The graph above shows the results gained by &
students in a mathematics test and the hours
they spent studying for the test. Find the
student who studied fewer hours than N but
had a higher result than M.

Fric is 1/2 the age of his grandfather who is 1424-18
years old. In 10 years time, what will the sum of
their ages be?

—
=
=

(i) Expend and simplify 3(2z — 5) — (2z — 5).
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() A pencil and a rubber are measured separately on a ruler.

e

RUBBER

LR DL UL LUt L O O B I |

0 - 1 2 3 4 5 6 7

DL (LN L I T I I S 0 A

0 1 2 3 4 5 6 - 7

The rubber and the penbil, in this order, are then placed next to
each other on the ruler. The left end of the rubber is on the zero.
Draw the pencil and the rubber to show their position on the ruler
below.

[Trrr T T Ty rrr T T r T T T T T T T T T ETrTiorg

0 1 2 3 4 5 6 7

The playground shown in the diagram below is
to be rotated anti-clockwise about A through
90°. Accurately draw the new position of the
playground on the diagram.

N\
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() The table below shows the percentage of cars at
a car show.

Audi | Volkswagen | Mercedes | Saab
30% 10% 45% 15%
If there were 22 Volkswagens at the show, how
many cars were NOT Audi?

(m)
$3.60 - 1
1o
A $3.40
b
¢
o -
b
S $3.20
— A|B AlB Al|B
January February April

The graph above compares the cost per kg of two types
of soap, A and B, from January to April. Which of
the following statements is correct? (Circle all correct
answers. )
A. In January, the cost of soap B was three times
as much as the cost of soap A.
B. The cost of soap A was constantly increasing
from January to April.
C. The cost of soap A doubled from January to
February.
D. The cost of soap B has decreased constantly
from January to April.
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Question 5 (20 marks)

(a) Given n(A U B) = 30, n(4) = 15, n(B) = 25;
find n(A N B).

(b) Find a pair of numbers, a and b, such that a=

5%+ 50 = 56,

(c} What is the reciprocal of —576?
Answer as a mixed numeral.

(d) Graph all the whole numbers that are 3 units
away from 1 on a number line.

AL 1) D(s, 1)

0
NOT TO SCALE

(i) Find the length of AD.

(ii) Find the co-ordinates of the point B.

(ili) Find the co-ordinates of the point C.

(iv) What geometrical shape is ABCD?
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(f) John took 9 lessons of karate at equal intervals
of time. His first lesson was on the 2™ of March
and his last was on the 26 of the same month.
On which day did John take his sixth lesson?

(g) Suppose I wanted to give away $1 000000000
but the rule was to give away §50 every minute
of the day. How long would it take to give it
all away? Full marks will only be given if your
answer is given in the form: years, days, hours,
and minutes (use only 365 days/year).
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(h) In numbering the pages of a book, 408 digits
were used. How many pages has the book?

(i) A job can be completed in 8 hours by 5 men
working equal amounts.” How long would 3 men
take to do the job if they worked at a rate 331/3%
faster?
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Question 6 (20 marks)

(a) Captain Bluebeard lost his map to the treasure he buried on
Honey Island. He remembered that, by dividing the island
into 64 squares and following a few steps, he could relocate
his treasure.

e The treasure is located in the triangle formed by the
centres of the oval shaped forest, the rectangular outcrop

of rocks, and the harbour head.

o The treasure is located at the point of intersection of the

perpendicular heights of this triangle.

‘Where is Captain Bluebeard’s treasure? Give one co-ordinate

pair where you think the treasure lies.
. 1 2 3 4 5 6 7

8

A /%/” WEXIQ’I\IIE’y"1}93[;/§uhwli)

(b) The area of Tasmania is 67800 square kilometres.

The population of the world in 1987 was five thousand
million. Suppose the entire population of the world
moved to Tasmania: which of the following numbers
most closely represents the average number of square
metres each person would have?

A. 0014 B. 014 C. 14 D. 14 E 140
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(c) Find the sum of all the even positive divisors of 32
(including 32 itself).

(d) If 2> 0 and b < 0, circle all the answers which
maust be true:

a>—b
—a>b
a—-b>0
—a > —b
. ab>0

ZUaw>

(e) In a football competition there are 9 teams. If
each team plays each other twice, Find the total
number of matches played.

Ronny Ant is at corner A on a solid cube,

and wants to reach corner B by the shortest

path. Show carefully and clearly on the above
" diagram this shortest path.
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(g) At a certain school there are 90 students studying for their HSC.
They are required to study at least one of the subjects: Physics,
French, or History. Of these students, 50 are studying Physics, 60
are studying French, and 55 are studying History. 30 students are-
studying both Physics and French, while 10 students are studying
both French and History but not Physics. 20 students are studying
all three subjects.

(i) Construct a Venn diagram which
represents this situation.

(i) How many students are studying both
Physics and History but not French?

(iti) How many students are studying at least 2
of these 3 subjects?

End of Paper
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SBHS - 2008 YEARLY EXAM SoLuTioNS

Question 1 (20 marks) Answers

VO
> 2o ,4<30:25

(8) Write a whole number in the box to
get an answer between 5 and 5.5

(b) Estimate the value of /65, giving your answer
as a whole number.

g .

(¢) The diagram shows a tower drawn to scale. )
What is the height of the tower? D D D

pon
0o

Abm. ifuly

Scale 1 : 2000
. =
(d) The fraction — has a value between 8 and 9.
Give one possii)le whole number for O.
7/57' and. & b4
- . 1 1
(e) What [raclion subtracted [rom 3 gives —1—5? |
Page 2 ol 27 ... Jexams/2008/ YearT/ Yearly08._lex 29/10/2008

() A rectangular paddock is to be spraved to
protect against insects. The cost of this is found
using the formula:

C=+LxBx16,
where I = Length in metres,
B = Breadth in metres, Cu
C = Cost in dollars. ﬂ '!5 Q’O
Find the cost of spraying a paddock whose
dimensions are 144 m by 36 m.

(g) Adam’s normal rate of pay is $7.30 per hour.
On Saturdays he is paid one and a half times
his normal rate. Last Saturday he worked from
9am to 1 pm. How much was he paid that day?

§42.90

(k) When John adds four to & number and doubles
the result, he finds that he gets the same as four
less than three times that number. Which of the
following equations, when solved, will give John's
number? (Circle any correct letters, but do not
solve the equation.)

A2x+4=3z~4 B.22+8=3x—-1 -
C2t+4=4-3z D.2z48=4-3a B

How many faces does this hexagonal prism
have? Circle the correct answer(s). C
A6 B.7 C.8 D9
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(i) List all the subsets of {4, B, C} ) (p) For which of the following equations will the

E /’\ Z C} ¢ { A} { 6} 203 ' ‘ soAlumZE; bes ;): 5’;2(Cucle ang co;recfxais;v)ers)

c. 2f.s D Pz ;
{A,B} facy §8.cT ’ ’ B D
(k) Write 1097 in Roman numerals. .
™M X C\/ 1. (g) Name one or more of the following plane figures
. (A, B, C, D) in which there are more than
. 7 Circle
(1) What is 0.632 as a fraction in its simplest form? three axes of symmetry?  Circle the correct

letter(s).

4 A. B.
= | ARC

{m) Simplify 4k x 2k* ] . ¢

K

Circle

(n) Write down the largest 4-digit even number
with a 5 in the hundreds. place and a 7 in the

tens place.
q 5') 8 | Regular Pentagon Equilateral Triangle

(o) 450= 2x3%x3x5x5
9860 = 2x2x5x 17 x 29
Use the prime factors of the two munbers given
above to find:

(i) the H.C.T'. (highest common factor) of 450 i
and 9860. ’
2xB = 1D |

(i) the L.C.M. (lowest common multlple) of

450 and 9860. :
2% 2%y % )T ;;19 = 44627100
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Question 2 (20 marks)

(a) There are 50 rabbits 6n a farm. Their number is
expected to double every 3 months. How many
months will it take for the number of rabbits to
reach 16007 ’ '

(b) A batsman scores 75 runs in fhe 1% jnnings and
90 runs in the 2*¢ innings. How many runs must
he score in the 3'¢ innings to achieve an average
of 78 runs per inningsp?

(c) A house has increased in value by 10%, and it is
now worth $341 000. What was the house price
before the increase? :

(d) Simplify 5kl + 100k — 7. — _
5kl

() Solve for & 8—w=12. » e

il

Page 6 of 27 ... Jexams/ 2008/ Year7/ Yearly08.lex
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\5w&%5

Tex D= A¥Y

43¢ ~1bs = b9

3.1 090 .
S 100
o e

= 4210 0o

-+
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(f) On & certain day at Rock Island, the
temperature in the morning was —5° C. It went
up by 12°C by noon, and then down by 17°C
by the evening. What was the temperature in
the evening?

(g) Andrew threw a die (numbered from 1 to 6)
twice and got 6 twice. If Andrew throws the
die again, what is the probability that he gets
a 6 again?

¢

(h) Sam looked in a mirror and saw the reflection
of a clock-face as shown.

—10°C

A5 4n

What was the correct time then?

(i) The numbers on opposite sides of this cube add
~up to 5.

‘What is the product of the numbers on the six

faces?
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q
. y -, &
o) 1)
L (-1, a)
A(-3, -2) or
An ant ab point A(—3, —2) moves 4 units in a ' ( ] ""‘(0
vertical direction to a point B. It then moves 2 )
units horizontally to the right. Iind a possible
set of co-ordinates for its final position.
. h
(k) Insert a < or > sign in order to make a true >

statement: > [0 3.142

(1) Rewrite this recurring decimal Using the
appropriate dot notation: ) 4. ¢
£9.519

68.519519519. ..

(m) Using your calculator, evaluate this expression
correct to 3 decimal places:

3734 3.7 .
5_\/56 “5(/\'(20 O\\Q

(n) Simplify |7|—]~9].

\9\’
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(0) What is 87 in base 2 (binary)?

1ol ol |

o

(p) Given that A= {M, A, T, 1, S} 9
B= {P> R) I: IV.[, E) S} °
list:
(i) AUB

g&%Hﬂ;wﬁﬁﬁﬂg

() ANB
gmysi '

(q) Write asa single numeral:

6x10°+4x10°+3x 1045

@O%oaa

(r) The fraction halfway between 7_% and W is 8113
Find the value of W as a mixed numeral.

2L g W

84+ﬂ.ﬁ‘ﬁ”
S8 go 30
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. X Marks
Question 3 (20 marks) Answers

(a) Two pieces of wire, A and B, are used to form
a thombus and regular octagon respectively.

Q o \(—-,(,\f‘(\ A B
D

%‘1 \oun D

4cm 20 mm

NOT TO SCALE
Which of the following statements is true?
(Circle the letter(s) of any correct answers.)
¥. The sum of the lengths of wires 4 and
B is 32mm. )
B Wire A is longer than wire B.
& Wire B is longer than wire A.
@ The sum of the lengths of wires A and
B is 32cm.

' ¢/ | D/ | \
Solid 3 - D

Solid 1 ,

Solid 4

SollidZ
A wvertical cut, CD, is made through each of
the four solids drawn in the diagram. In
how many of these. solids will the cross-
“section made by the cut be =& square?
A. None of the four solids. B. Three solids only.
C. Two solids only. ne solid only.

(¢) A solid hes 6 edges and 4 vertices, Write down v

the name of the'solid. ”T‘(\\C\ﬂﬁu\(fw OJQ \’Y\\\d E

Page 10 of 27 e /exaﬁ;s/QUOS/Yeur?/Yearly08,t.ex T 20/10/2008

(d) Two balls, one glass and one steel, are the same size. They are to
be placed separately in a tub containing 600 ml of water. When
the glass ball is placed in the tub, the water level rises to 700 ml

700 ml

as shown,
700 ml
m S

The glass ball is removed from the tuls and the steel ball, which is
three times as heavy as the glass ball, is put in the tub. Draw the
new water level of the tub.

900ml
800 mt

(e) Joanne wants to go for 3 nights on & holiday to Queensland.
The table shows the packages offered to her including air-fare.

A. ] $600 for 3 nights

B. | $200 for each night

C. | $450 for first 2 riights, $150 for every extra night -
(D. $400 for first 2 nights and 3100 for every extra night
Which travel agent (A, B, C or D) offers the cheapest package
to Joanne for 3 nights? (Circle the correct answer(s).)

Internet Specialist monthly plans:

—
-
=

Cost for 50 hours | Cost of each hour above 50 hours
Plan A $30 $2.00

Plan B $40 $1.50

Venessa and Jessica are both customers of the Internet Specialist
company. They both used the internet for 60 hours in March
1999. Venessa chose plan A and Jessica chose plan B.

Tind the difference in their monthly bills during that month.

Plan A2 $20 + 1032
$20
Plan B = v + 10« $H1SD-

29/10/2008 ..« fexwms /2008 Yeur 7/ Yearly08.tex Puge 11 of 27

= $85
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(g) The perimeter of a rectangle is 24cm. What
could be the dimensions of the rectangle?
(Circle all the correct answers.)

4/, Length = 18 cm and width = 6 cm

7 Length = 9cm and width = 3em

Length = 0.14m and width = 0.1m

@Length = 0.1m and width = 0.02m

17 20
(h) 3 target shooters scored o »
the denominator is the number of rounds fired
and the numerator is ‘hits’ on a target. To the

nearest whole number, calculate the best score

T - 297 Yg= BI7-

. ar

(i) Shadein (ANC)UB.

13
and 5 where

Puge 12'0f 27 ... [Jexams/2008/ Year7/ Yearly08.tex
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(i) The diagram shows three views of a ‘solid
formed from centicubes.

Top Side - Front
—
l ’

Draw the three-dimensional solid in the space
provided

(k) Doug is drawing an isosceles triangle PQR.
PQ is one side of the triangle. Point R is to
be on the dotted line through P. Complete
the triangle so that PQ = PR. Show all

construction lines. .

(1) Convert 101010111, to a decimal numeral,
9% 18 6% 2 16 L 2 |
T ol 0OVYDY L = 43

(m) Jason is trying to cell his friend Paul. He can
remember

e the first 6 digits of the 8-digit number,
e no 2 digits are the same,
o there are no zeroes in the number.

What is the maximum number of calls Jason
needs to make to reach his friend (assuming all
calls are answered)?

2 3 4L 56

B

4 O O® -

7
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Question 4 (20. marks)

(a) A polyhedron has 30 faces, 17 vertices and 35
edges. Is it possible to create this figure? Give
teasons for your answer.

F4v T B4+
20 +i1 = 3842 X
he b po&S\b{«:

(b) The equation k> — 3k = 0 has k = 3 as one
solution. If there is another s’olution, find it.

K=o
(¢) Simplify 77% 4 6p° — 2%
3 2>
/3 /0 - 2 P
(d) Simplify (—323y%)%.

a6
—..277CY

(e} The sector graph shows how much money the
Jones family spent on their last vacation.

hotel ace.

shopping

If they spent in total $10000, how much did
they spend on airfare (to the nearest §)7

€000 XS  ns5g3.3
360
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(f) Given v® = v®+ 28 and u = —5, a = 10 and
8§ = 3.75; find the two values of v.

vi= 25 10xpx3.1S
= 100
V = |0 or =170

—
@

ﬁ

2

g N+

e -Q
£ Le

2 M

[ -

Z1K

Study Hours
The graph above shows the results gained by 5
students in a mathematics test and the hours
they spent studying for the tesl. Find the
student. who. studied fewer hours than N_but
had a higher result than M. .

[

(h) Ericis ¥/2 the age of his grandfather who is 14z+18
years old. In 10 years time, what will the sum of
their ages he?

E =z X +9
(Cyyrs Tire E+0 = 7%+ 19
/ ‘ GAto = 16X +HZ
S itm = 21X +"-‘1”7
(1) Expand and simplify 3(2z — 5) — (2z ——5)
CA—- 1S - LY

G :jLL?C*E?

450 — |0
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(J) A pencil and & rubber are measured separately on a ruler.

RUBBER

i
]IIIIIIIII]Ill[llllllllillllllllllll

0 1 2 3 4 © 5 6 7

lll!illlllllllllllllllsxlllllllllllll—l

0 1 2 3 4 5 6 7

The rubber and the pencil. in this order, are then placed next to
each other on the ruler. The left end of the rubber is on the 2E10.

1};)r1aw the pencil and the rubber to show their position on the ruler
DEeIowW. .

[T T T

6 7]

.IIlll,l]lllll]lllllllllll]ll“
| 9 Y z -

4 N ’ T T J

(k) The playground shown in tlic diagram below is
to be rotated anti-clockwise about A through
90°. Accurately draw the new position of the
playground on the diagram. -

S
) C
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The table below shows the percentage of cars at
a car show.

Audi | Volkswagen | Mercedes | Saab

. 30% 10% 45% 15%

I there were 22 Volkswagens at the show, how
many cars were NOT Audi?
2 2— = %G ?G 5/{ CM
-'.f“@fue 20 ca~3 2 20
NoT-Ropl = To% "/ '

= IS+ Cer?

$3.60 — 3
—?‘

bo
—"v $3.40
5 -
3 -
"
8
O $3.20 —
4 lals AlB AlB
January Febrvary - April

The graph above compares the cost per kg of two types
of soap, A and B, from January to April. Which of
the following statements is correct? (Circle all correct
ANSwers.)
A. In January. the cost of soap B was three times
as much as the cost of soap A.
B. The cost of soap A was constantly increasing
. from January to April. '
The cost of soap A doubled from January to
February.
@ The cost of svap B has decreased constantly
from January to April.

... fexams 2008/ Year7 [ Yearly(8.tex Page 17 of 27




Question 5 (20 marks)
(a) Given n{AU B) = 30, n(4) = 15, n(B) = 25;

find n(A N B). V\(AU.BB SN +V\<'E>’ n CAH@

lV\G‘\f\BB:\O& B o= 1y o 25 - V\(Aﬂ[&,}

(b) Find a pair of numbers, a and b, such that a=f{o
: b= L
: 5° + 5" = 5%
\ \ .7 -0 NP R~ -
.(c) What is the reciprocal of —%? ] T AL, . B 7

Answer as a mixed numeral.

(d) Graph all the whole numbers that are 3 units

away from 1 on a number line. ‘ -2 ownd. H ]

(e)

f—|—<——-c’

—_——

AL, 1) D(5,1)

0
NOT TO SCALE

(i) Find the length of AD. L
(i) Find the co-ordinates of the point B. C’S 5 5)
(i) Find the co-ordinates of the point C. q ) 6)

(1v) What geometrical shape is ABCD? P CW\.»LQLQD:%%
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(=]

(f) John took 9 lessons of karate at equal intervals
of time. His first lesson was on the 2" of March
and his last was on the 26" of the same month.
On which day did John take his sixth lesson?

nth

(g) Suppose I wanted to give away $1000000000 .
but the rule was to give away $50 every minute
of the day. How long would it take to give it
all away? Full marks will only be given if your
answer is given in the form: years, days, hours,
and minutes (use ounly 365 days/year).

? |600 0vo 00y led
50
= 20 ovo oo minotes
- 233 R ;5 hours
= e «zéz % d“‘aﬁ’ e

i

33.0% W e
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(h) In numbering the pages of a bock, 408 digits
were used. How many pages has the book?

PAGES
Ff(“‘j CI Cf

No D\& TS

Next 0 |20
NewT 73 219

VT 2 P&f)&%
: ’
(i) A job can be completed in 8 hours by § men V

working equal amounts. How long'would 3 men
take to do the job if they worked at a rate 331/3%
faster? :

Jolo r‘ﬁ_@uu.\ﬁs$ 9w = 4O V\naw\, Iheuire

.. | It weddd %Joe lD/Q\MM ~No.clo *M«L\jtr&
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Question 6 (20 marks)

(a) Captain Bluebeard lost his map to the treasure he buried on
Honey Island. He remembered that, by dividing the island
into 64 squares and following a few steps, he could relocate
his treasure. .

« The treasure is located in the triangle formed by the

centres of the oval shaped forest, the rectangular outcrop |

of rocks, and the harbour head.
o The treasure is located at the point of intersection of the
perpendieular heights of this triangle.
Where is Captain Blugbeard’s Lreasure? Give one co-ordinate

pair where you think the treasure lies.
1 2 3 4 5 6 1

sl oA gg:NEJy ST

8
L]

(b) The area of Tasmania is 67800 square kilometres.
The population of the world in 1987 was five thousand
million. Suppose the entire population of the world
moved to Tasmania: whiclr of the following numbers
most closely represents the average number of square

metres each person would have
A. 0014 B.0l4 C 14 I 140
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" "(c) Find the sum of all the even positive divisors of 32
(including 32 itself).

aotlet gt — O

(d) If a > 0 and b < O, circle all the answers which
must be true:

A ap-b : b<‘&'/
N B. —a>b -
@a—b>0 '—‘I\O >""&\“
D, —e¢>-b

E o ab>0
§

(e) In a foothall competition there arg 9 teams. If
each team plays each other twice, Find the total
number of matches played.

asg <70

|

}

] .

: .

1 .
Ajg I o

‘\: . —7
I

Ronny Ant is at corner A on' a solid cube,
and wants to reach corner B by the shortest-
path. Show carefully and clearly on the above
diagram this shortest path. -
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(g) At a certain school there are 90 students studying for their HSC.
They are required to study at least one of the subjects: Physics,
TFrench, or History. Of these students, 50 are studying Physics, 60
are studying French, and 55 are studying History. 30 students are
studying both Physics and French, while 10 students are studying
both French and History but not Physics. 20 students are studying
all three subjects. :

(i) Construct & Venn diagram which

represents this situation. N [ P} =50
n(F)=60
n (R = 55

| n(raF) =30

" p(Enna®)=1o
| n (PO RO = 22

(i) How many students are studying both
Physics and History but not French? x %/ B

(iii) How many students are studying at least 2

of these 3 subjects? . b b

End of Paper
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